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QUESTION 1

When creating an Appointment, which three "Matching value type" selections can be used to create the Appointment?
(Choose three.) 

A. License Plane Nbr 

B. Load Nbr 

C. Dock Door 

D. PO Number 

E. Advance Shipment Notification 

F. Trailer Nbr 

Correct Answer: BCD 

 

 

QUESTION 2

Item X has product life as 40 days and % Acceptable as 40%. You are doing receiving for your company via RF and
today is Sep. 15th, 2017. The receiving transaction that you use to receive Item X has left the screen parameter allow-
rem-exp-override blank, and has the screen parameter allow- inv-exp-override set to on. Identify two valid facts.
(Choose two.) 

A. When you communicate to the RF that the expiry date of Item X is Sep. 30th, 2017, the system will allow you to
receive it. 

B. When you communicate to the RF that the expiry date of Item X is Oct. 25th, 2017, the system will allow you to
receive it. 

C. When you communicate to the RF that the expiry date of Item X is Oct. 10th, 2017, the system will allow you to
receive it. 

D. Expiry date is the only date value that you can enter via receiving transactions, but it is optional based on the items
configuration. 

E. When you communicate to the RF that the expiry date of Item X is Oct.20th, 2017, and there\\'s an existing inventory
of Item X whose expiry date is Oct.4th, the system will allow to receive it. 

Correct Answer: AD 

 

QUESTION 3

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification 

status mismatch. 
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Which three are valid? (Choose three.) 

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively. 

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation. 

C. This error message will disappear if the RF screen parameter split-uom is left bank. 

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction. 

E. The from-IBLPN and the to-IBLPN might be received against the same ASN. 

Correct Answer: BCE 

 

 

QUESTION 4

You are the Inventory Control Supervisor at your employer\\'s East Coast facility. Your employer is a 3PL, 

and your customer is a large company that is also serviced out of the other 3PL facilities. As you start the 

shift, your Inventory Control team members inform you of a significant change in the RF Cycle Counting 

process. 

Lost IBLPNs are now updates with a "00" lock code rather than the expected "LL" code. 

Which scenario is causing this issue? 

A. You dismiss the concern because a change in the lock code has no impact on either the WMS Cloud or host
inventories. 

B. Your counterpart at the 3PL\\'s other facility changed one of the cycle counting company parameters and that
impacted your workflow for that same company. 

C. An inventory team member in the other facility marked a lost case with "00" lock code causing all subsequent lost
cases to be defaulted to the same code across all LPNs for all company/facility combinations. 

D. While counting LPNs at a location, one of your team members marked a lost case with the new lock code. The new
lock code is stored in system memory and applied to all IBLPNs counted as "Lost". 

E. One of your inventory team members changed his/her RF parameter default lock code causing the same
configuration change to propagate to all users in the facility. 

Correct Answer: D 

 

QUESTION 5

A client can integrate with WMS Cloud by using the input interface. Which three options can be integrated? (Choose
three.) 
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A. Appointments 

B. Loads 

C. Orders 

D. Item 

Correct Answer: BCD 
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